Equal 9 step grey scaling betweeh* g3n=22.3 andL*y,v=96.0, Yorei=90.0, normalisation: whiteW|
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L*0anm22.3,L*0a=59.1,L*9aw~96.0, Yoan=3.6, Yoal27-2, Yoan=90.0,Coay=Yoaw: Yoan=25.0
L*N=74.1,L*5~81.1,L*q0=96.0, Y;an=46.8, Y;a=58.6, Y;an=90.0,Cay=Yiaw: Yian=1.9
regularity index according to ISO/IEC 15775:2022, Annex G for 5 and 9 steps
g* = 100 AL* min 1/ [ AL* max ]

9%= 30, g%y= 23 g'%s=88, g'g= 74
real output linearized output
. L*ta AL*ta L*tr Yta (L*tr) 116 |*a Al*a
96.0 1.0  90.0 96.0
4.4 2.9
91.6 0.799 79.8  0.869 93.1
4.0 2.8
87.6 0.617 71.2 0.74 90.3
35 2.8
84.1 0.457 64.2 0.613 87.5
3.0 2.7
81.1 0.319 586  0.49 84.8
25 2.6
78.6 0.205 54.2 0.372 82.2
2.0 25
76.6 0.115 50.8  0.259 79.7
15 2.4
75.1 0.047 484  0.148 77.3
1.0 3.2
74.1 00 4658 00 74.1
Yoait+Yoref

. normalisation: Yigiw=Yoaw

Yoaw™* Yoref
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